[+ AFLZEAF]

THEATHE 15 T A 8, 290, 000
JI A E B [ f 3t B 3 Ok 2 FRBF R (i L5 e BRI BRA B 7,461, 000
No. EE4 AHL%E s
L () ks T 8,210, 000 VEFLIR E
2| (BF) EHERMES 8, 250, 000
[&E 7 AFLEE]
TETE 1= T E fili K 6, 110, 000
ENfEHEE 5 — THREE] - (SbsE ) b LSS LR SRARH R 5, 499, 000
No. ¥EE4 AFL%E s
1| Cf) 0 T3P 6. 000, 000 AL E
[&E 7 AFLEE]
THEATHE 25 T A 3, 040, 000
JIPEE AR BEss Ty 7 NERE LE e BRI BRA B 2,719,000
No. ¥EE4 AHL%E s
1| CB) EALER 2,950, 000 TEALTEE
20 —ERE A () 2,960, 000
| LER (BR) 2,980, 000
41 ZaER A (BR) 2,990, 000
BRI R R e i R AR () 3, 000, 000
6| (BR) HEZ= 3, 000, 000
7| (BR) AV = AHETE 3, 010, 000
[&E 7 AFLEE]
[El A T8 1 7 T AR 7, 740, 000
S IPHERE A% b A VAR R T H e BRI BRA B 6, 757, 000
No. ¥EE4 AHL%E s
| () AV = a2 iigTi 6. 960, 000 TEFLIR E
20 (BR) IWARTHIE 6, 966, 000
3| (BR) KES

6, 966, 000




[E 1 AFLZEM]

TIBEFE 15 T E fili K 14, 730, 000
O 2 &b [ SO HERE R 2 W B OB S AR MR B 2B Zqt T 15 Tl FEATG 4% 11, 784, 000
No. EE4 AHL%E s
1| (BR) ¥4 Lo e 3 i o 11, 410, 000 | Kt CARHIBR Al A
2| (k) [ B R Sk 3 55 it 11, 457, 000 | % CrARHIBR A A
3| (k) LBEZEAIEAT 11, 600, 000 | Kt CeAHIBR Al A
4| () mERSREE 11, 636, 000| %6 CRIERIB it it
5| (k) a n d HAND®BEGZRFFHIT 11, 640, 000 | JeH CRARBIBR AR i)
6| (BF) = REEEEErT 11, 650, 000 | Kt CRARHIBR Al A
| BR) 7o ZEkE 11, 658, 000 | FH Gl AR AH)
8| (¥R ZEE%F%@’;E&ﬁ? T 11, 700, 000 | %GR Al A
9 (k) ZREGLRRGEIFHT 11, 720, 000 | FH GRS A)
10| (Bk) ABRARBRELERFFBIT 11, 784, 000 < LIz L D
L1 (k) BEZERES SRR BT 11, 784, 000 VAL E
12|12 < IFRBEREHFEBIT (KR 12, 550, 000
13| (BF) #o % st 13, 257, 000
[ AFLEM]
R 2 EMA THE () B T E fili K 25, 150, 000
KA PN S5 O 5 A k;é%ﬁm1u+§é 525t e BRI BRA B 19, 918, 000
No. ¥EE4 AHL%E s
1] (BR) X&F 19, 820, 000 | FH# Gl RS A#)
2\ RAE 7 Pggat (BR) 19, 870, 000 | FH# GRS A#)
3| (k) =k sz ks 19, 919, 000 Tk LR E
4l (BR) W= S o b 19, 930, 000
5| (BF) AV v ET7avHrsr b 19, 953, 000
6| AL () 20, 000, 000
TmEL Lo Y=T7 U 7 (KR) 20, 009, 000
8| (BR) HAKERFHE 20, 010, 000
9 k) =47 20, 021, 000
10| (k%) FRE= P2 b 20, 022, 000
1P HEARER = LZ b (BR) 20, 027, 000
12| =B a2k (BR) 20, 080, 000
I3[BHZER /M= vz b (BR) 20, 118, 000
14|38 B AR (B 20, 120, 000
15| (KR e gz 20, 120, 000
16| (k) B FFHBET 20, 120, 000
17| (BR) BETEIF =2 5 b 20, 120, 000
18| (Bk) AARA v —7 20, 120, 000
9[> RTFHA 2 (BR) 20, 120, 000
20| & rERkEt (BK) 20, 150, 000

2

—

(BR) Wl T2z |

25, 000, 000




[ AFLZF]

R 2 EMATHE () BT 5 T E fili K 2,990, 000
JIA R 75 S F ik st 2% 257 e B I BRA B 2, 367,000
No. EE4 AHL%E i

I k) THRE=ZFLZ b 2., 385, 000 TEFLIR E

2l BR) U RT =TT =7

2, 480, 000




